Q2. The iE)O-l:cg stone shown in Fig. Q2 is originally at rest on the sthooth horizontal
surface. If a towing force of 200 N, acting at an angle of 45°, is applied to the stone for 10 s

d{a:'ter'xnine* the final velocity and the normal force which the surface exerts on the stone during
this time interval.
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Q3. The 2-kg ball 1s thrown at the suspended 20-kg block with a velocity of 4 m/s. If the time
of impact between the ball and the block is 0.005 s, determine the average normal force
exerted on the block during this time. Take e = 0.8.
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Q1. The 10-kg biock shown in Fig. Q1 rests on the smooth incline. If the spring is originally
stretched 0.5 m, determine the total work done by all the forces acting on the block when a
horizontal force P = 400 N pushes the block up the plane s = 2 m.
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